Solution MATH 102 [Homework 5]

1. Find the local quadratic approximation of
f (x) =cos™' x about a=0, and approximate
cos™(0.01).
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2. Find the »n" Taylor
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3. i Find the »™ Maclaurin polynomial of

f(x)=In(1+ x)
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ii. Using (i), approximate In(l.1) to 3
decimal accuracy. [Use the interval [0,1]

) Wast b find [5] So frak
[R.@)| < 0005

‘/\)Dk wil
2) Nt {EnfﬂI‘ mfz [

’ M= mast {f(nr]()*)}

[e,1]
(”a)wﬂ

" -Fm-!)
)
w.s»n,(-l)""z(nz

Eo,l]
® NDI’E (}

N\r?\ |

= Mtuz, =]

[o:]

e M H'

/ﬁ g )l‘ (Hﬂ)’ (7‘-

= (R0 (N) |

Fnd n Sost }fg_,j,l,__. < 0.000S
Wring Y IN S P -

¥t
iﬁsz\!‘}l 5(«:45/3 o 06003
'ﬂ'-th‘ﬂe
@ Putrrl) = (6D B

ol.q-".‘.i

(IW)H?P

ﬂ*“}ml ] -

-
=

i

L 2

o
(.oq) .- (*” (oﬂrcn(bl}

L) = (55759

—



4. Find the general (n"

) term of the
following sequences, and find the limit if it
exists:
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5. Find the limit of the following sequences if

exists:
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6. i. Page 657: Q. 31 (C): Starting with n =1,
and considering the even and odd terms
separately, find a formula for the general
term of the sequence:
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ii. Page 657: Q. 38 :

sequence {a,} ,where
a,
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b. Use a numerical evidence to make a
conjecture about the limit of the

sequence.
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¢. Confirm  your conjecture by
expressing a, in closed form and

calculating the limit.
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iii.Page 657: Q.40: Use numerical
evidence to make a conjecture about the limit

of the sequence {[1;—”} } , and then use
n
n=l

the Squeezing theorem for Sequences to
confirm that your conjecture is correct.
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